Integrated Task TPO 47
The main ides of both passage and lecture is whether pterosaurs were capable of powered flight or not. The reading passage states that they could not able to flight because of three theories and the lecture refuses all of them by explaining and shows that pterosaurs may have been able to powers flight.
First of all, the author explains that pterosaurs were cold-blood and explains cold blood animal because of slow metabolism don’t have much energy. On the other hand, professor says new researcher of fossils shows that fact that pterosaurs had dense hair that covering their body. She adds that it is one feature of warm bloods animals so the pterosaurs were warm bloods and probably they could supply energy for flight.
Secondly, the writer averts that pterosaurs were to heavy and probably they could flight. The lecturer explains that pterosaurs had anatomical feature that let them to fly. Moreover, she says that they had hollow and light bones instead of solid and heavy one. So it probably could able to flight because they were not heavy as author said. 
Thirdly, the reading holds the view that pterosaurs needed to strong muscles to take off ground and takes birds for example. Conversely, the professor rebuts that there is a different between birds and pterosaurs, she adds birds use their two legs, but pterosaurs used all their four limbs to push off from grounds like modern animals such as bats. Thus, they were able to run fast and jump.
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